Math 1A
Midterm 2 Review

[1] If the refrigerator temperature is 4° C , the meat will defrost in 5 minutes less time for each 1° C increase in the refrigerator’s
temperature.

[2] Compare your final answers with derivatives obtained using the chain and quotient rules.

[3] [a] x = —3 (discontinuous) [b]

X = —2 (vertical tangent line)
x =1, 3 (cusps)

5
[4] [a] s'(1) = % [b] s"(t) = %t 2(10¢° + 4t* =3)
[5] y—9=12(x—2) and y+7 =12(x+2)
[6] y—4=T7(x-2)
[7] ]
2
[8] [a] y+8=12(x-2) [b] y—%z—%(x+l) [c] y+%=x+3 [d] y==-3(x-4)

[9] ANSWER WITHHELD (SHOW ME YOUR SOLUTION FOR VERIFICATION)

7 Sx Tn l1lx
[10] X =~

6 6 6 6
[11] 6xg'(x*)+4x’g"(x*)

[12] y=4(x+1)

4
[13] 4ax3(— i) =-E - Yo
4y y y
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cosx In sinx} _ (xcosx—sinxInsinx)(sinx)~

2
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14 ——=(Smmx)”*
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